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(iv) SECHSH TS

Match the following newspapers and their editors :

(@)
(b)
()
(d)

Kiran

Native Opinion

Indu Prakash

Indian Spectator

Answer options :

(1}
(2)
(3)
(4)

(a)
(1if)
(i)

(i)
(iv)

(b)
{1
(iv)
)
(1)

(d)

iv) .
()

(iv)

(i)

(iy V.N. Mandlik
(i) N.G. Chandavarkar
(iif) M.B. Namjoshi

(iv) Behramji Malabari
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2. w fasioieEt §F S uirw it i T gE e 3§ O i Sireal e

(a) STHETEAR (i) Tesiamy eriR
(b) IS (i)  refroey S
() SR (iif)  GRFTS A
(d) W (iv) SAIEE T |
A I

@ O © @
0 @ @ @
@ @ @ O @
® 6 @ @
@ @ O @ @

Match the following journals started for female education and the people who started

them :

(a) Bamabodhini (i} Dwijendranath Tagore
(b) Abalabandhava (i) Sasipada Ba;1erjee

() Antahpura (iii) Dwarkanath Ganguli
(d) Bharti (iv) Umeshchandra Datta

Answer options :

@ ®» ©@ @
1) ) @ @
@ @ @ O @
G O @ @ @
@ @ O ) @
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3. felre Jortm faem Tat ge o faumite S faum st o 2
(a) TSR, TR T yFET AT F W F.
(b) TEUEm, T YUl 9 HIATH HE FIEEAGE T GE H,
(©) 1913 R AN Fried [UIRT qagal EFH%
At I
(1) ¥ (a), (b), (c) T A, (2) ¥ (a), (b), () T TR
(3) (a) T (b) T Y, (c) FATE. (4) (b) T () I I, (a) TA EL.
Which of the following statements about the Depressed Classes Mission are true ?
(a) It established its centres at Mangalore, Indore and Bhavani.
(b) It opened vocational tra'ming classes in sewing, book-binding and coir-work.
(c) It shifted its centre from Pune to Bombay in 1913,
Answer options :
(1)  All (), (b), (c) are true (2)  All (a), (b), (c) are not true

(3) (a) and (b) are true, (c) is not true (4) (b) and (c) are true, (a) is not true

4, GEEOWIS i RGO AR Thed ey Moo B0, 9 o 94 1813 =1 AR FFaR FHIgH
TEHEE S, 7Y T2 7 A @A TRATd 4% S7e 9 A=l Hgard 4o a7 1. § o
I B ? '

(1) e = @ ¥Ew
(3) zfow fagm ol (4) ol fgea fawd
At first there were many restrictions on their immigration to India. But those were all

removed by the Charter Act of 1813. Hence forth they came in large number and became
an important feature of the society. Who were those people 7

(1) Arab Traders (2) French Traders

(3) English Christian Missionaries (4} American Christian Missionaries
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5. TS ToEd oM § ST ey =) ATYF W™ TS .
(1) W e | (2) FHUYF GH
(3) RN EH (4) feites som fowm
Ajjan Elija Solomon, a Jewish person, was a member of the Managing Committee of
(1) Prarthana Samaj (2) Satyashodhak Samaj
(3) Brahmo Samaj (4) Depressed Classes Mission

6. 1848 el ¥ WY f@ma B, S WIS I oS, faamy Hefed 9 mia] AEEE A @
e AR AOTUIHIS! FH Y FO. I TS A1 HEr G AT 3 e,
T | FIET @ e ?
(1) 99 | g (2) FFAYHRE W
(3) UWEW |/l (4) dEEdE wa

This organization existed in 1848. Dr. Bhau Daji Laad, Vishvanath Mandlik and Govind
Madgaonkar worked hard to bring up this organization. Justice Ranade presented research
articles in the meetings of this organization.

Find out which was this organization ?
(1) Poona Sarvajanik Sabha (2) Dyanprasarak Sabha
(3) Paramahansa Sabha (4) Buddhivardhak Sabha

7.  Hd TgEH S ?
(1) W% ga
(2) T HEUEHA YRR Hodl BT g4
(3) S wEEATdl
(4) %9 v
Who was Saint Lubin ?
(1) A French Saint
(2) The French diplomat who was felicitated by Nana Phadnis

(3) The French general
(4) The French traveller
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e AT o [N TG qie e g

(a) () wEFeT MR

(b) AR () e e

) X (i) FTHOE WIS

(d) SRR (iv) TSRS W
it I

(@ (b) () (d)

M O @ @

2 @ @ @) ()
- @ W) @ @

@ (@ (W) @ @

Match the following newspapers and their editors :

(a) Jagruti (i)  Vyankatrao Gode
(b) Rashtraveer (i) Khanderao Bagal
(c) Hunter (i) Shamrao Desai

(d) Brahmanetar " (iv) Bhagvantrao Palekar
Answer options :

@ (b) () (d)

1 @ @ @) @)

@ @ O () (@

@) (iv) @) @) @

@ @ (v) @ @
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9. TERA Mg TS AieAmTea Y feoe faumides! S faum e i ?
(1) A e i afe s ) B
(2) T R HIGIHET AT YIS FTUE Fe Bl
(3) TooEmet dfeaidem § fauan EiiaERees feam deus 959 B
(4) TR W AIATHE & Wl TS UF WE e,
Which of the following statements about M.G. Ranade is not true ?
(1) He was the First Indian Fellow of the Bombay University.

(2} He was appointed as a lecturer at Elphinstone College.

(3) He was one of the founders of the Widow Remarriage Association with Vishnushastri
Pandit.

(4) He was one of the founders of Prarthana Samaj with Atmaram Pandurang.

10, SIS S
(a) e AT () Tue gg geRe
(b) 3 AT (i) <EET §=R YW
(c} W@ I® (i) fewe FES S
(d) wrES (iv) SemeEl AR
aiet I

(@ (b) (o) (d)
1) @v) @) @@ @)
@ @ @ @ (@)
@) @ @) @) G
4) @) @ ) @)
Match the following :

(@) Lord Wellesley (i) Declared war on Sindhia
(b) Arthur Wellesley (i} Was incharge of Deccan forces
(c) General Lake (iiiy Captured Delhi

(d) Bhosale (iv} Treaty of Deogaon
Answer options : ' .
@ ® (© (d)
O @ @ @ 0
@ O @ @ W
@) @ @ O G
@ @) O @) G6)
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11. 16 3R 1899 Uit Y1 He QEREE! TR o 0N Hvij 6 2
(1) TR St (2) SiaTSi qEET Wi
(3) HRAR U2 I (4) = feah
Who instituted the Paisa Fund Society and registered it on 16% October 1899 ?
(1) Vasukaka Joshi (2) Antaji Damodar Kale
(3) Moreshwar Gopal Deshmukh  (4) Lokmanya Tilak
12. & Ao K Twwsn e folws, =1 YA 491 T S A
el FRER anftr wevaqul weum Ufeen AR, Toas STeama wytdl 7egm. € e 79dr @
= W i {9 T IeEREE . 8 SEie Bl M sied el 2
1) = 8= () Terster ST AR
(3) THieS TIHS (4) T B
The correspondent of The Times, London, wrote', ¥ Never since its discovery has the
played so important and daring a role as it now does in India; without it the
Commander in Chief would lose the effect of half his force”. What was the correspondent
talking about ?
(1) Postal Service (2) Electric Telegraph
(3) Enfield Rifle ' {4) Subsidiary Alliance
13. a1 Hedrn fagm aufes A 18 stfaRia 1909 UST Hasd I gie A9l 9o ol Bidl.  Jelas

2 g w9 <orit ekt 2.

 He HvR ?
Q) e wom fiem (2) R ETS
(3) SETOIG & (4) dfgspd Saewiiol T

The third anniversary of this organization was celebrated on 18% October 1909 at Town
Hall in Mumbai. Sayajirao Gaikawad of Baroda, Sir Narayan Chandavarkar and Namdar
Gokhale were present for the function. Sayajirao donated two thousand rupees to the
organization.

Which organization was it ?

(1) Depressed Class Mission (2) Prarthana Samaj

(3) Brahmanetar Party (4) Bahishkrut Hitkarini Sabha
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14, SIS e ¢
(a) famemrER foreuEt (i) SN TELEE WS AR Fo.
(b) wERW 1. ifeq (i) T FEE 9USA AR Fl.
(c) TESme M (iii) S T A VTR FUSHd AR F.
(d) "I (iv) SHE STE AU SIS el
it I

(@ (B () (@
»H @ @ @ W)
(2) @) (@ @ @
@ O @ @ )
4 @ @ ) o
Match the following :
(a) Kashinathshastri Chiplunkar (i) Translated Arabian Nights in Marathi

(b) Sakharam P. Pandit {if) Translated Robinson Cursoe in Marathi

{c) Ravjishastri Godbole (i} Translated Lamb’s Tales from Shakespeare
in Marathi

(d) Bapu Chhatre {iv) Translated Aesop’s Tales in Marathi

Answer options :

@@ by (o (d
O W @ @)
(2) () @) @)
G O @ @ @)
(@) (@ @ (v) (@

15. T YA WAl s, i1 ST =l Rae hell. Wi I afae 1@ il o S
e ?

(1) <€ fee (2) <€

() e e (4) W€ o=

He Indianized administration. He ended the Afghan war. He ended Arms Act. Who
was he ?

(1) Lord Lytton (2) Lord Ripon

(3) Lord Hastings {4) Lord Ubert

e HRIMTETS WP /SPACE FOR ROUGH WORK
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16. YIS faur a9 @ aviF 00 THNIGYRE 69 o il ?
(a) 1§ weeq foet sive Trifire TE@dN 1872 - 1889 T wfda a.
(b) o g HiAv T 9 EdA w8 g
() d @y foagg foaar gdt Jere a1 @ewm o JearR 9.
vt I
(1) gfea et (2) T v
(3) =iy e IoT (4) @ Y AT
Read the following statements and name the social reformer described in them :
(‘a) He was the Secretary of Students” Literary and Scientific Society 1872 - 1889.
() He was the Independent non-official member of the Hunter Commission.
(c) He was the Counsel for Rakhmabai in her case against her husband Dadaji.
Answer options :
(1) Badruddin Tyabji (2) Pherozeshah Mehta
(3) Kashinath Trimbak Telang (4) Bal Mangesh Wagle
17. IE6E Tesdely 1885 HE TIYA #iosed] WA UT 1MW gyaee HIod] Yafean sge s ?

(1) TER FAY 99 @I 6.

() n@qﬁﬁﬁmﬂmqﬁ.

(3) TR HIW IR TSR HoEL
(4) T FY W TESHIES A,

How did Deoband movement react at the establishment of the Indian National Congress
in 1885 ?

(1) Welcomed the National Congress.

{2) National Congress is of no use.

(3) National Congress should be boycotted.
(4) National Congress is against the Muslims.
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18. WHieds! fae syt e ¢
(1) THYER (2) HEEY g
(3) ERFMM 2N (4) HENY 2R

Pick out the odd person from the following :

(1) Radhaprasad (2) Kalinath Munshi
(3) Dwarkanath Tagore (4) Devendranath Tagore

19. O QURE TAH HiEd T AT yRadie feoreiar =i wifden feen
(1) sReeRey  (2) Aoy, (3) e @y foem =
Rajaram Mohan Roy, the Social reformer supported the for education in
India.
(1) Orientalists (2) Anglicists (3) Prinsep (4) William jones

20, GOIGUH! RV HZHE] THETAET ThITETON0, 9@ o 39 JEE S9Art ST fadae
(3rrasA) TafHdter & ?

(1) == (2) woE

() v (4) T T

Which of the following factor influences the production of enzymes useful for
photosynthesis, growth and yield.

(1) Wind velocity (2) Potassium

(3) Solar radiation (4) Water molecules

FoHT HATATS AT /SPACE FOR ROUGH WORK
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(1)
(2)
&)
(4)

Match the following :

SRR RS

W facuy fooswrd

(iv)

Warren Hastings

(b} (c)

(d)

(i)
(iv)

Jonathan Duncan

Sir William Jones

Sir William Wilberforce

Answer options :

@

(b) (<)
@ ()
(iv) ()

(i) (i)
(i) (i)

(iv)

13 EO8

Calcutta Madrasa
Sanskrit College, Benaras
Bengal Asiatic Society

Evangelical Sect.
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22, YEi AW GUA Focdl TS GURFN T Hoal

(a) 1840 UK T Hedq e TR AHo d Ues YR 3.

(b) 1851 WA i IR YHGYRIIS! WITE a9 A FL.

(e)  d S SRIRAEIATS T HEAE B,

it =Y
(1) T g (2) TEHTE, AT
(3) e AR @) Trlemme f=a

Name this Social reformer described in the following statements :

(a) In 1840, he became the first native to be appointed as a teacher in the Elphinstone
Institute.

(b) In 1851, he founded the Rahnumai Mazdiani Sabha, a Parsi Social reform association.
(c) He was one of the founders of the Bombay Association.
Answer options :

(1) Naoroji Furdunji {2) SS. Bengali

(3) Dadabhai Naoroji {(4) Pherozeshah Mehta

23, 9 (AED) Yefle T dvaitet fordt St feg wwf=t ama ?
1) 16 @ 17 @) 18 4 19
Out of the total caves at Ellora (Verul) how many caves are dedicated to Hinduism ?

1) 16 @) 17 (3) 18 4) 19

24. TREISTH! FIG ATHT MU THSRN Haiod gl ?

(1) g gha @) g

(3) weETa (@) W T ghaEs

Which of the following literature is not associated with the Prarthana Samaj ?
(1) Subodh Sangeet {2) Subodh Patrika

(3) Prarthana Sangeet {4) Prarthana Samajacha Itihas

HEAT HIWEISt IFT /SPACE FOR ROUGH WORK
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25.

15 EO8
TERTE T4 § TV 9 (%) FHN game fasmmmed =1 SER fuTes o7,
(1) IS, A9EH, &1 YR o Tl |
(2) TS, AYHH F TR
(é) s, Hel YR It
(4) TS, AU q Y WHR

The Maharashtra state has been divided into 9 agro-climatic zones based on

(1) rainfall, temperature, soil type and vegetation

-(2} rainfall, temperature and vegetation

(3} rainfall, soil type and vegetation
(4) rainfall, temperature and soil type

26.

e et e SfeR qEio yaTd SR ¢
(a) TEE HieT TEe

(b) T T e
(c) onfifa v fezam

It IAL
(1) (a)F (c) TR 2) (b) T (c)
(3} (a) T (b) TR (4) & TR

Main objectives of sustainable agriculture are :

(a) To maintain environmental balance

{b) To achieve social-economic equality

() To get economic benefits

Answer optioﬁs :

(1) (a) and (c) are correct (2) (b) and (c) are correct

(3) (a) and (b) are correct (4) All are correct
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27, Yo% Wide R faun g 9 o Il Uhd Tege e adl. geEw A
318 . '
(1) THuy, 3w, 9w, i (2) Toy, ufsm, o, &
() Tou, IW, df=m, <fam (4) fou, I T4, Sfam

Bombay Presidency was divided into four divisions, with a Revenue Commissioner over
each division. The four divisions were

{1) Sindh, Northern, Central, Southern (2) Sindh, Western, Central, Eastern
(3) Sindh, Northern, Western, Southern  (4)  Sindh, Northern, Eastern, Southern

—

28, wHEHl S TUERIGHT e AfaE WA A I ySEiueT SESoaE 3.

(1) 120 (2) 100 (3) 150 . 4y 125

If average annual rainfall is greater than percentage the year is considered as
over rainy year excess rain.

1 120 2y 100 (3) 150 {4y 125

29, TEeE s al S -

(1) e <o (2) oYy Heq
(3) USRI ¥y () drer AEE

Pick out the odd person from the following :

(1) Bhulabhai Desai (2) Kailasnath Katju
{3) Tejbahadur Sapru (4) Motilal Nehru

30. fafire favrmdie woft anfor s sfam & o stegeen ufiftud=t @dd shiee 9990 S

e HRUTATE.

(1) SR (2) «wm (3) EEE 4) ==

Animal and plant life of a particular region considered as a total ecological entity is known
as

{1) Biota (2) Biome (3) Biomass {4) Blotch

HoEAT HWMG AN /SPACE FOR ROUGH WORK
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31, T TS A AU HOOR S SR 30 1973 el 3 it Fe,
(1) 9o faurras () THEH THED
(3) IFTS SO FEFHRI aftEr ¢) TrEr sifyawm

The Anandpur Sahib Resolution which asked for autonomy for the states was passed in
1973 by

(1) Punjab Legislative Assembly (2) Damdami Taksal

(3) Working Committee of Akali Dal (4) Nirankari Convention

32. 1920 "o ' AfEe W sgvad fane qies’ 3 999 F0 adt ?

(1) WeR (2 Had (3) T @ ™

Where did the ‘Akhil Bhartiya Asprushyata Nivaran Parishad’. (All India Conference for
eradication of Untouchability) take place in 1920 ?

(1) Solapur (2) Mumbai (3) Nagpur (4) DPune

33. 3.9 28 IV 1946 s TERTS THIHTO TRoe O Jagqed sl 2t a1 o= aveae o 8 ?
(1) #a = (2) = =M
@) afa e (4) viHWE [

Who was the president of the meeting of Maharashtra Unification Council, held at Mumbai
on 28t July, 1946 ?

(I} S.S. Navre (2) S.A. Dange

(3) D.V. Gokhale (4} Shankarrao Deo
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34, 16 fed=rR 1971 st URY 4.30 AN NiHEFA TG VA WHI TG Eed YR 4
TR TR SRl v 8 ?

(1) wr - et @) 3 -~ P

(3) AT - EEER (4) SFEEH - T

On 16% December 1971, at 4.30 pm Pakistan laid its arm’s. Who from the following were
the military officers of India and Pakistan at that time ?

(1) Manekshaw - Niyazi (2) Arora - Niyazi
(3) Arora - Ayubkhan (4) Ayubkhan - Manikshaw

35. WeaRigs SASTo g | fagwia @ oo arn fresed <vam A I
(1) ) wEE (3) e (4) =%

Satyashodhak Samaj acquired a unique rural base in Deccan and Vidarbha due to the
important role of the Din Mitra newspaper published from

(1) Satara (2) Mahad (3) Tarawadi {4) Vai
36. W AeNNIHT 11 SHERT 1911 ST IR e A FIINTF GH=TT
T Fe. ,
(1) YE=HE ya (2) BRI g
(3) HUUTETRE B (4) TORM HEEEH

Shahu Maharaj established the Satya Shodhak Samaj in Kolhapur on 11" January 1911
under the presidentship of .

(1) Bhaskarrao Jadhav (2) Haribhau Chavan
{3) Annasahed Latthe (4) Parsharam Ghosarvadkar

37. [T HM A HEE A=A @ ¥ ST WeANE F0A S,
1) 9o (2 faET (3) e (4) «mERNE
Forest Satyagraha was carried out under the leadership of Mannu Gond and Chaitu Koiku
(1) Betul (2) Siddapur (3) Ankola {4) Kasargoc{

HeAl HTEES TR /SPACE FOR ROUGH WORK
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38, I FEHFYA 9 i WU oAl SISl e

(1)
(2)
(3)
(4)

@
@)
0

@
&

(b)
0

@
(@
)

HE. HITeH

TGS T ST a1 THg Aoy
g H |

TR T Y

Match the following newspapers and their editors :

(a)
(b)
(©)
(d)

The Vasumati

The Prabasi

The Bharat Mitra

The Sandesh

Answer options :

1)
2
(3)
(4)

@
@)
0

)
i

(b)
)

(i)
(i)
(iv)

©
()
i
@)
0

@
(i)
)
0

()

A.B. Kolhatkar
Bal Mukund Gupta and Ambika Prasad Bajpai
Ramchandra Chatterji

Hemchandra Prasad Ghosh
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39.

20 A

T B YenTEee 73 R 3 AT FI A e 3 ?

(@) TN SCTH, DFEAER) N T € THAT GE FA.

(b) aﬁﬂm%ﬁ%wmﬁmﬂ@ﬁ%@ﬁgwﬁ%
forreriag MRAaT STY@T TSHa 59 Hae aifes.

"Tﬂ'hﬂ‘ﬂ:
1) (a) 0 b) TR GHRET ARG (2) (b)) T
(3) (a) T (4) (a) @O (b) SR 2R

Which of the following two statements about Gopal Hari Deshmukh is wrong ?
{a) He started the newspapers, Induprakash, Lokhitvadi and Dnyanoday

(b) He was of the opinion that Indians must take their political rights from the British.
Without political independence there cannot be economic progress of India.

Answer options :
(1) (a) and (b) both are wrong (2) (b)only
(3) (a) only (4) (a) and (b) are true

40.

et v faym SR e TEerE waith TR ? .

(1) RIS GETE A8 e Higd wi-t = Sfiren HarE gean Ha.

(2) 1907 T T foefor SRR TO S

(3) HeHHA 50 fome=a v Tufae g% $0.

(4) fawEt ouer } U 1g Juas.

Which of the following statements is associated with Karmaveer Bhaurao Patil ?
(1) He began his educational work by establishing a school in Dudhgaon, Satara.
(2) Established the Rayat Shikshan Sanstha in 1907

(3) Started a students hostel at Karad with 50 students
(4) Was the editor of Vijayee Maratha

41.

Y AT TER = S B

(1) T (2) AIEE @) TR (4 TITH
Just like the parallel Prati Sarkar established in Satara during the Quit India Movement,
there was a parallel Jatiya Sarkar at in Bengal.

(1) Gurpal (2) Tamluk {3) Talcher (4) Jambusar

e HTATETE T /SPACE FOR ROUGH WORK
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42, TioHS UREede FagT[ <, JEHRe esH I+ AR TH U GeerE
3 IS B
(1) ™R (2) TEH
(3) e fig 4) TEerE

Dr. Babasaheb Ambedkar in his narration at the Round Table Conference had demanded
that the untouchable should be addressed as

(I) Mabhars (2) Harijans

(3) Protestant Hindus (4) Neo-Buddhists
43. M g TR @M’ = 1928 Vel w9 Hel.

(1) o Ao 2) FoTEE TS

(@) 3 T (4) T e

formed ‘Women’s Swadeshi League’ in 1928.
(1) Mrs. Jamnalal (2) Krishnabai Rau
(3) Indirabai Rau (4) S. Ambujamumal

44, IO HIVE! ST 1953 T ST Al SERASNS 86! g Foedn T A= SRR
e gt ?
(1) = e (2) = T, R
(3) h.H, TUitERt 4) TEITS T

Who from the foIlbwing was not a member of the State Reorganization Commission
appointed by Jawaharlal Nehru in August 1953 ?

(1) Justice Fazl Ali (2) Justice S.K. Dar
(3) KM. Panikkar (4) Hridaynath Kunzru
45. __ 9 afse usiiaes SEdrr TE S wiiEs. 17 s 1817 st i Arehgarel
A e Fre T,
(1) ST wea 2) TESH AR @A
(3) W fage v (4) ST W
While fighting against the British saw his father becoming a martyr. On
17th November 1817 he erected his father's ‘Samadhi’ at Vakdevadi.
(1) Raghoji Salve (2y Lahuji Vastad Salve
(3) Moro Vitthal Salve (4) Nanaji Salve
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46. Y. TEET T FERRAA Afew T ane T2 et Fer?
(1) =t fe
(2) =g THG TR
(3) Tnte feer anftr stsgw IS AR
(4) TR
With whose co-operation did Pandit Nehru establish the group of non-aligned
countries ?
(1) Marshal Tito
(2) Abdul Gamal Naser
(3) Marshal Tito and Abdul Gamal Naser
(4) Naser only

47. I s giedam smifthue’ <9t frsaad faeed 2.
(1) faE=rEg (2) e WEE
(3) Torge st i (4) €. TEERe TaEH
had received fellowship from American Unitarian Association.
(1) Vivekananda (2} Pandita Ramabai
(3) Vitthal Ramji Shinde (4) Dr. Babasaheb Ambedkar
48. @It anftr sfeshR Gwdwior a5 oran Haes Tert T,
(a) = feow (b oA T
() . Fa= (@ . afa et
(e) fowp mfdg famrgret () ERE TERW Y
Taiet I
(1) (a), (b), () B (2) (@, () (o) () P
3) (@) (b), (d), (e) FHd (4) (@) () (), (), (e) ¥ (f)
In the Bombay presidency, the Swadeshi and boycott movement found its leaders are
ETGiTﬂak (b) S.M. Paranjpye
(¢) Mrs. Ketkar {d) Mrs. A.V. Joshi

(e) Vishnu Govind Bijapurkar (f} Mahadeo Rajaram Bodas
Answer options :

(1) (a), (b), (e} only (2) (@), (b), (), (O only

() (a), (), (d), (¢) only (4)  (a), (b), (c). {d), (¢} and (f)
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49,

23 EO8
1974 9 71 T weERT=n At faeneft S o T2ae 9. g
1) f=r ) T (3) ITW WA (4) HH W™

In 1974, the state of witnessed a massive student protests against corruption.
As a result, the Chief Minister had to resign and the state came under President’s Rule.

(1) Bihar (2) Gujarat (3) Uttar Pradesh (4) Madhya Pradesh

50.

TG ITE, TRRTSTI AT Y& @ aeht SVt faem W afed ?
(a) T 1910 WA TEHR WHESAE FR FH.

(b) 1916 TR Tavan Qe S HHd Fo

(c) <A 1918 Wl Faedra foamg Frasy 9 Fo,

(d) TN 1906 HLA TERNYS IRER A Ha,

Tt I

(1) 9 (a), (), (), (d) ¥ aea.

(2)  (a), (b), (c) § 3ed, (d) ¥ R

(3)  (b) S () T AR, (a) S (d) T T

(4)  (2) 3 (d) T e, (b) ST (c) T TR
Which statements about Rajarshi Shahu Maharaj are true ?
(@) He enacted the Co-operative Societies Act in 1910.
(b} He sanctioned Widow Remarriage Act in 1916.
{¢) He sanctioned Inter-Caste Marriage Act in 1918.
(d) He organised a Satyashodhak Conference m 1906.
Answer options :

(1) Al (a), (b), (c), (d) are true.

(2) (a), (b), (c} are true, (d) is not true.

(3) (b) and (c) are true, (a) and (d} are not true.

(4) (a) and (d) are true, (b) and (c) are not true.
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51, feenrht eal anfon 2H$H S99 Tiow i HE el Ffe Iy snf

LEERIERE
(1) i arguré wad (2) Togoem . 7ol
(3) .\ TR o (4) TS HEEH

, owner of the Chicago Radio and Telephone Company, supplied the
equipment as well as technicians for the Congress Radio.

(1) Chandrakant Baboobhai Javeri (2) Vitthaldas K. Javeti

{3) ~ Dr. Ram Manohar Lohia {4) Nanak Motwane

52, WOUE! Sludl GavsR g Tafe e faseera ar= em wed A ?

(1) ey (1BDU) (2) =Y (CDU)
@) wEI MDY (@) e T
Which of the following fertilizer is not under the category of controlled release fertilizer ?
(1y IBDU (2) CDU
(3) MDU (4) None of the above
53. HW WMo, ¥ Haddio ifama S g9ete ygE g
(1) e (2) qoolt SwEE
(3) T 4) TENOHRE e
a Congress Socialist was the head of the underground Congress Organization
in Bombay.
(1)  Purushottam Kanji (2) Soorji Vallabhdas
{3) Ratansey Chapsey (4) Turushottamdas Tricumdas
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54, e Taem wad! STit SoHae ST SR S it iser s STNER g
ST T

(a) TIARH () TS T eTeRd YO W UISe el W S
IS SR HHeEl.

®) gafam () e TS & SYE 9.

(c) UG FFHAGS (iii) T S G WA R IS0,

(d) T FOH TP (iv) TTS ITH HHA L 23 AMeRIeT 12 x 25 <A1 Giord
5% FO.

It 39T

@ (b} (g (9
1 @ @ @) (@)
2) @ @ @@ (@)
(@) vy @@ @ )
(4) (@) @v) @

Match the following persons and the atrocities committed on them by the British authorities
after the Jallianwalla Bagh incident :

=
e

[~}
~—

(a) Raliyaram (i) was forced not only to crawl on his belley but was
. kicked by the soldiers.
(b} Sunder Singh (i) became senseless after the fourth stripe.
(c) L. Kahanchand (i) was a blind man, who was forced to crowl on his
belley.
(d} Lala Baliram Kapur (ivy was arrested and locked up with 23 others in a
12 x 25 room.

Answer options :

(@ () () (d)
1) @ @ (@) (@)
2y @ @ @ @)
@) (v) @) @ @
4 @ @) @ @@
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55. SIS Sed
(@) WHCER! () = R
(b) SR () ST TUFEA
() ¥ (i) o€ i
(d) Toees (iv) oT=H Tg 3T
Tt 3aY

@ ({® (© (@
1 O @ @ )
@ @ Gv) @ @@
3y (v) @@ @ @)
@ @@ @ @) 6@
Match the following :

(a) Socialist (i)  Dr. Zakir Hussain

{by Communist {(ii) Dr. Radhakrishnan

(c) Philosopher (ii)y P.C. Joshi -

(d) Educationist (iv) Acharya Narendra Dev

Answer options :
@ () () (d)
1 O @ ) G)
(2) G vy @ (@)
@) (v} (@ @ @
@ @) @ @) 3G

56. WU SUSX a1 & §1, YheHR Saiia doedl fratfaeren qreaAm
TYT S Bl
(1) W& ey (2) UHE 3) TH o™ (4) WId TUSH

Communal riots accompanied partition, the immediate problem was rehabilitation of nearly
refugees who had migrated from Pakistan.

(1) Six Million (2) Five Million (3) One Million (4) Seven Million
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57. féq wemu=n stfawa w9eE SE%T wue TeER o i e fawr
HT B S0 A1 et vatd Jvar=t 3=81 Qe a1 Ti-yafa Sord g1 g
(1) =rer T (2) TS T
(3) HEHMI TSI () Tiem TEq@
The most sensational activity of the Hindu Mahasabha was the re-conversion of four and
a half lakhs of who had embraced Islam and were eager to get back to the
old religion.
(1) Chauhan Rajputs (2) Rathore Rajputs
(3) Malakana Rajputs (4) Gautam Rajputs
58. QR WIeM, aled WE SR S T WISoed RMEe a1 SR e

SUYH R TA HSHe 1 FEIEATE YR T g fole 2.
(1) TEER 2 Te (3) X (4) TXEE

the princely state was unwilling to accede to India as it had a highly educated

population, thriving maritime trade and newly found reserves of Monazite useful for
making atomic energy.

(1) Travancore (2) Junagarh (3) Mysore (4) Hyderabad

59.

giEl FE Fd FiAEned UG T Ao AR 2

(a) TSN QUM T GRAE it T 23 et favast faare Fan

(b) Wi FEfel 9 Haoedl J USIET U TR FESAER! @il R HHAS
TG Fel.

() 1915 T UK AHfe IR e 2.

it 3=y :

(1) (b) 30 () T 3T, (2) T 2) (a) 3 () T 3T, (b) T TEI

(3) (a) 3NMW (b) VA AART, () T R (4) wd faumr o aRa

Which statements about Dhondo Keshav Karve are correct ?

(a) When his first wife died, he married a 23 year old widow.

(b) He founded the Nishkam Karma Math whose inmates worked for social cause and
not for money.

() He was the President of the National Social Conference in 1915.

Answer options :

(1) (b) and (c) are true, (a) is not true (2) (a) and (c) are true, (b) is not true
(3) (a) and (b) are true, (c) is not true (4) All statements are true
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60. Siredl Seodl
(a) 3T ()  AeHEl U
(b) T S (i) 1833 HEA IR M Fi=A1 AW A
(€ e fan g (i)  STEYHIE TS
(d) Taua fam (iv) 1828 T 33 FA
qafEr Iy :
@@ ® (o (@
1) Gv) @) @ @
(2 @) @v) @ @
G O @ @@ )
4 @ @ Gv) (i)
Match the following :
(a) Ahoma (i) King of Nonklon
(b) Gomdhar Konver (i) North Assam came under his possession in
1833
(c) Purandar Singh Narendra (iii) King of Ahomas
(d) Tirat Singh (iv) Revolted in 1828

Answer options :

(@ () (@ (@
M ) @) @ @
(2) (@) @Gv) @ ()
@) O @ @ Gv)
4 @ @ @) (@)

61. WERT T o U0 T 3Ngedd 3. R
(1) TS WHI0T &Y (2) Treome Sq=r gfaw
(3) WER SHrEH faww (4) hessTTEl fawmE
Rural to rural migration is observed in Maharashtra because :

(1) Less rainfall (2) Lack of educational facility
(3) Development of sugar industry (4) Development of Horticulture
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62. TGB! ST o= BITE SaRE & Sheld oo 37 ?

(@) TeE  (b) T (c) Fwm (d) =

i I

(1) W (a) Taum SR a1 (2) (a) 30T (b) fau™ SR 3T,

(3) W () Taum SR o @) () 3o (c) fawmy sER oA,

In which of the following river basin/basins Jawar is concentrated ?

(a) Godavari (b) Bhima (c) Krishna (d) Panchaganga

" Answer options :

(1) Only (a) statement is correct. (2} Statements (a) and (b) are correct.

(3) Only (c) statement is correct. (4) Statements (a) and (c) are correct.
63. SISl Yol :

(TrEmTa ) (foemr)

(a) T () TEAAHIS

(b) T (i) SEEEG

(€ =T (iii) ST

(d) Ui THSI "I (iv) AgER

gt I

@ () (0 (@
1)y (W) G (v} (i)
(@ @) @ @ @)
G) @) @ @ ()
@ @O @ @) (@
Match the following :

(Sanctuary) (District)
(a) Narnala (i) Yeotmal
(b) Tipeshwar | (i) Osmanabad
(c) Aner (i) Akola
(d} Yedshi Ramling ghat ~ (iv) Nandurbar

Answer options :

@ ® © (@
O @ 6 @ @
@ @ O @ G
@ v @ O @)
@ O @ o @
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64. WABIH! DIV I T SHEEAE T T (451-600) Tt ?

(1) i, Qe (2) YL, Heg

(3) TR, FR (@ T W

Which of the following two districts have high density (451-600) of population ?
(1) Nashik, Satara (2) Nagpur, Solapur

(3) Nagpur, Kolhapur (4) Pune, Solapur

65. MIETEN IYEEE 9 SUEY WOS oF AT,

(1) WIRFETR T SRR (2) B A WA

(3) TIfHEH 3 aH (4) FTERY T WEW

Which of the following countries lie on west and north-west to India ?

(1) Pakistan and Afghanistan (2) Nepal and China

(3) Pakistan and Bhutan (4) Bangladesh and Brahmadesh

66. YRATA TAHH WRAN W=7 Srae ATHA o fia A= s 84 91 Sk 7RO 3ed, a0
[ G o fan o7, il agEw vty e

(a) T AT B - T § FER

(b) HINIA W F1B - e ¢ fedT

(c) ST T hied - AR & gt

(d) T EF@- AE A A

atdt I

(1) W (a) faum s TR (2) (b) 3 (o) fay™ SR aMgq.
3)  (a), (b) M (o) FAUR T aMed. (4) S Td faym T A

Indian Meterological department has declared four seasons after studying the arrival and
departure of Monsoon. Choose correct alternative from the following season and its
duration.

(a) South - West Monsoon Period (June to September)

(b) Post - Monsoon Period (October to December)

() North - East Monsoon Period (January to February)

(d) Pre - Monsoon Period (March to May)

Answer options :

(1) Only (a) is Statements correct. (2) Statements (b) and (c) are correct.
(3) Statements (a), (b) and (c) are correct. (4) All statements are correct.
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67. O Ficamdio i fohoet WISt wigg onea ?
(a) =g A (b) fErd
(c) (d) ¥aHTE
(e) wfEEzTe
q’ﬂ'ﬁﬂ‘ﬁﬁ‘ :
1) @ © 2 () {9 3) (o) (e 4) (d) (e
Which forts are famous for tourism in Pune district ?
(a) Vandurg wasota (b) Shivneri
(¢) Rajmachi (d) Pratapgad
(¢) Harishchandragad
Answer options :
(1) (@ © 2) () {9 (3) (9 (¢ @ (d) ()
68. ifmn Tsamdie wivms Jeite gHHfer wfag R, @M 3 TRV
(1) Ysume 2) =% T
(3) wfeR w5t (4) TowamR HieX
Sun Temple at Konark in Orissa is World Famous. It is known as
(1) Red Pagoda (2) Black Pagoda
(3) Kapileshwar Temple (4) Tirachanur Temple
69. TERTEM AHUHE T @ oau @Y 4% FEASTR foeama e
(1) #rg (2) Tgl (3) e (4 fm=
In Maharashtra stalactites and stalagmites are found at in Ahmadnagar
district.
(1) Kanhur (2) Rahuri (3) Karjat (4) Shirur
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WYy -1

( T WO 30T )

(a) TS
(b) g - AYAEER
(0 forae
(d) HeEw
vt 5

(@) ® (& (d
O @ @ @ @
@ @ @) @ @)
@ @) @ @ o

@ O @ @

Match the following :
Column - 1

(Wildlife Sanctuary}

(a) Phansad

(b} Nandur - Madhameshwar

(c) Kinwat

(d) Melghat

Answer options :

@ () (o (@
1) @ @) @
2y @ @) @ @)
@) @) @ @ ()
(4) @ @) @ @w)

32

@Y - 11
(W faumT )
(i) e
@ P
(i) sfimarg
(iv) -

Column - 11
(Administrative division)
(i) Amravati
(ii) Konkan
(i) Aurangabad
(iv) Nashik
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71. TSGIEH! SHIOCAT U U9 S FeX <@ fawd ?

(@) Fo (b) | =R

(c) T TETE o (d) wHHe =R
i e

(1) (a) four sde o, 2) () faeE T e

(@) (o) anfty (a) faum =eR ameq. (4) (d) foum S TR,

Which of the following Valley shows the beautiful scene of reservoir of Dhom dam ?
(@) Krishna Valley (b) Venna Valley

(¢) Tehri Gadwal Valley (d) Silent Valley

Answer options :

(1) statement (a) is correct. (2) statement (b) is correct.

(3) statements (c) and (a) are correct. (4) statement (d) is correct.

72. TRS A ¥ an R4
(1) - = (2) T - S
(3) AR - e @) T - Wi
Roaring Forties are kind of wind.
(1) North - East trade (2) South - East trade
(3) South - West anti trade (4) North - West anti trade
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73. wow g THey g & ey Fi=n 9rg e @

w9 -1 wWW - 11
( e e ) (o)
@ e e
(k) foord @) ey
() SaE (i) TN
@ o @v) o
qaiEt I

@@ (b) () (d)
1 @ @O @) @)
@ O @ @ )
@) vy @@ @ Q@)
@ O @) @ @
Match the following Electricity projects with their districts.

Column - 1 Column - II
(Electricity Projects) " (Districts)
(a) Pavana (iy Thane
(b) Tilari (ii) ‘Sindhudurg
(c) Bhatsa (iii) Parbhani
(d) Yeldari (v) Pune

Answer options : _

(@ @) () (4
Q) @ @ ({v) ()
@ @ @@ @@ @)
@) (v) @ @@ ()
@ O Gv (@) (i)

HEAT B/ AFT /SPACE FOR ROUGH WORK




(c) sz
(d) =S
it I

@@ (b (9
O @ @ )
(@ @@ Gv) @)
() ) 6 @)
@ @ @ 0
Match the following :

Column - I
(Animal Resources)
(a) Sheep
(b) Goats
(c) Ponltry
(d) Bunffaloes
Answer options :

@@ () (9
1) (@) (@)
2) () () (d
@ @) @ (@
4) @ @) @

iv)

St

@
0
@
)
i)

35 EO8

W\ - 11
( wo AR foed )
(@) AR
() I
(i) R

(iv) SRS

Column - 11

(Leading districts)

(i) Kolhapur

(it) Pune
(i) Satara

(iv) Ahmednagar
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75. R EMM SOnaEl FT 91 METH “Amw” € S8R HIMEE! 9T 318 ?
(1) s VRt g (2) TEH! TOME STeTHOH e feamsdt
(3) W o oo (4) Ya I feared

For what “Amw” Letter is used by the Scientist Koppen in Indian Climatic
Classification ? o

(1) Semi - arid steppe climate (2) Monsoon type with short dry winter season
(3) Monsoon dry winter (4) Polar dry winter
76. Siedl ol ; :
(@) ( Sare faamoT)
(a) TafeH G wHEE
(b) P (@
() u= (i) FPSI=
(d) TG (iv) T
it 39

(@ (b) () (d)
M @ @) () ()
(2 Gv) @) @@ @
@) @@ @G @) @
(4) (i) @G @ (@)
Match the following :

(Mineral) ' (Production place)
(a) Silica () Kasarde
(b) Chromite (i) Mouni
{c) Mica (i) Kudal
(d) Calcium {(iv) Rajur

Answer options :

(@ () () (d)
M ® @ @) @)
2 () @) @ @
(@) (@ @) @) @
@ @ @ @ @
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77. WO A TFETSN $-ATHR FIVeA] AT O] FREHeS T e 1R ?

3) T

(4) T o

Name the agent of erosion forming the landform shown in the following figure.

(1) Wind
(2} River
(3) Glacier

(4) Underground water
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78.

38 A

1921 St SFTUAT WISH T 91T T SHTUAT 991G HeRETIe SIhue Jee. Toiodd! Siv
e 1921 9O SHEE G G FHHT BIE™ HRUVT o ?

(a) 7 gREA M= e (b) AU FHHAT

() e ‘ (d) HESIEA S THI TUBR
Tgiet 39

(1) &« (a) : (2) W (a) ST (b)

(3) WH () (7 (d) (4) W (d)

Except 1921 census year, during the rest cenisus years population of Maharashtra increased.
Which of the following factors are responsible for fall in growth rate during 1921 census
year ?

{a) Spread of disease like Plague (b) Scarsity of food

{c¢) Drought (d) Out migration from Maharashtra
Answer options :
(1) Only (@) ' (2) Only (a) and (b)
(3) Only (c) and (d) (4 Only (d)
79. WO TEN TG e
(a) WA R S,

(b) =l TS W AR Wil T .

(€) ERQ-TSTERIA foreriieAn swi-<feen Wi i,

(d) U= 99 g I

it I

(1) st (2) e (3) @i (4) S

" Identify the following River :

(a) Originates in Madhya Pradesh.

(b) Called Pranhita after its confluence with Wardha river.

(¢} Forms the North-South boundary of Chandrapur-Gadchiroli districts.

(d) Pench and Bagh are its tributaries.

Answer options :

(1) Pranhita (2) Indravati (3) Wardha (4) Wainganga
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80. WIS THINT VTS Faa @R Al

(1) +EEEr
(2) FOIGR
(3) TR @R
(4) S @R

Identify the river basin shown in the following map.

'

)  Bhima Basin
) Krishna Basin

(3) Godavari Basin
) Ulhas Basin
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81. <Iew Ml :
(wdew %) (foemr)
(a) A fepeem @ |
() el fereem (i) IHFATER
(c) RIS UL FIH (i) T
(d) wrEA gEl AR (iv) TRiA
it vy : |

@ () (© (d
1y @) @ (i
(2) @) Gv) @) (i)
@) Gv) () () (1)
4) (v) @) @ ()
Match the following :

e’

—
[
<

N

[

(Tourist place) ' (District)

(a) Balapur Fort (i) Sangli
{(b) Naldurg Fort (iiy Osmanabad
(c) Chandoli National Park (i) Satara

(d) Mayni bird sanctuary (iv) Akola
Answer options :

(@ (b) (o) (d)

1) G @ @ @)
(2 @ Gv) @ Q@)
@) ) @ @) (@
4) (v) (@ @) G

82. WHEIH HorHl YHY O8I Fd UM I A6 ?

(1) wufhs 2) Teia 3) THE (4) =gd
Which of the following earthquake wave cannot travel through liquid ?
(1) Primary (2) Secondary (3) Tertiary (4) Quaternary
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83. e oan
w1 W\ - 11
(wdw) (UFT)
(a) WH B () oTafae gdq
(b) SvfrEA (i) SrFarEl GE g
(c) TwHEI® (i) SOTERE! Y4d
(d) O 9Eq (iv) HSE wEd
ot I

(@ (B () (@
(D Gv) @ @) @
(2 @ () @)
@) @ @) () (i
(4) () @ @ ()
Match the following :

(=

Column - 1 - 'Column - 11
(Mountain) ' (Type)
(a) Black Forest (i) Residual mountain
(b) Appalachians (i) Block mountain
(c) Rajmahal (iif) Volcanic mountain
(d) Popa mountain (iv) Fold mountain

Answer options :

@@ @®) (© (@
(1) @) G) @) @
(2) @ @v) (i) (1)
G) @ @) @ ()
(49 @ @) (@ ()

S
<

84. FTHIE AT WOHGUS! HIvY T8 TIERIT G qd9e T4 A TN F 7
(1) 2002 (2) 2010 (3) 2012 (4) 2016

Which of the following year United Nations celebrated the international year of
Eco-tourism ?

1) 2002 (2) 2010 3) 2012 (4) 2016
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85. W TS UeUH! H AigAie aqHM HEl Iatcdl HHH oI
(2) TR (b) AR () TR @) F
TIiEr I
W ®@@d@ @ @eb.a 6 ©@ @b @ ©d e b

Rank the cities listed below according to their range of temperature in the month of May
in a descending order.

(a). Nagpur (b) Solapur () Ratnagiri (d) Mumbai
Answer options :

1) ()@ @@ 2 @@ 0@ @ (@@ Wb @ /©dadb)

86. WG T HeATIH! HvEl T Yo=t HHO! Wvia: "Ha FHfifa aga ?
(a)  VISITEl HHHHMRI I
(b) A TS
() SIS
(d) T HANET ASTE Y& ARG AR
(e) = I
It SO
(1) wow (2) (), (c) 3T (d)
(3)  (a), (c) I (d) (4) (0 (d) ST ()
Which of the below listed reasons for soil erosion are completely human related ?
(a) General slope of the geographical surface
(b) Nature of the soil
(c¢) Deforestation
(d) Excessive use of grasslands for grazing
(e) Shifting cultivation
Answer options :
(1) All of the above (2) (b), (c) and (d)
(3) (@) () and (d) @ (. (d)and (¢)
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87. WIOOYH! U faum g ameq ?

(a)
(b)
(€)
(d)

(1)
(2)
(3)
(4)

A T WA [t I a1 e,

TEETA TR o, 721 § U@ 9 Ui Sl Je] ee.
U fFARUE 31 ST Wil T sTeed.

EIThedd YSRER PETE HY SR e, Td 7 e 3a e
e I

(a) 3nftr (b) faam sl aRa.

GRELEENEIE ]

() T () faum sOer a1

0@ ¥4 faum ser omeA.

Which of the following statements are correct ?

()
(b)

(1)
(2)
(3)
(4)

Fertile alluvial soil is found in Satluj Ganga basin.
On deccan plateau black soil is found in deep, medium and shallow forms.
In humid climate of western coast laterite soil is found.

On Indian peninsular plateau due to content of Iron, red, brown and yellowish soil
is found.

Answer options :

Statements (a) and (b} are correct.
Statement (c) is correct.
Statements (a)} and (c) are correct.

All statements are correct.
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88. ST o
WY -1
(=i =T )
(a) =EON 3MHR
) T
() T
((:1) s WA

@ (b (©
M @ @
@ @ @ )
() & @ G
@ @ O

Match the following :.

Column - I
(Settlement Pattern)
(a) Star Like
(b) Triangular
{c) Terrace
(d) Linear
Answer options :

(@) (b) (c)
1) @) ) @
2 @ @O @)
@G @ @ @
@ @ @

(d)

44

()
(i)

)

Y - 11
(¥mT)
B T 31eal T frevars fewm
Y 3 W e
36 <t
ed FR

Column - II

(Location)
Two rivers or road convergence
Where several roads converge
Narrow valley

Mountain slope

AT THIHETS ST /SPACE FOR ROUGH WORK




89.

Sire1 o
LR
(3T _9T)
(2) FET
(b) T
() TfT
(d) =R
et I :

@ () (9
(1) (@) @ @)
2) (@) @ (@)
3 @ () (i)
)

4 @ @) (W)
Match the following :

e

Column - I
(Areas of Production)
(a) Chandrapur
(b) Gadchiroli
(¢) Ratnagiri
(d) Nagpur
Answer options :

(@ (b} (o)
(1) @) @

(2 () (@)
@) @ @) ()
(4) @ (@) ()

i)

(
(iv)

(d)
(iv)
()

(iv)

(d)

(iv)
(i)
(iv)
(

i)

45

W - 11
(umq)
@) T
() =
(i) JE
(iv) SeERe

Column - I

(Minerals})

(i) Limestone
(i) Manganese

(iif) Iron-ore

(iv) Bauxite

EOS8
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90, WS 97 fauHis faar %4
(a) 3R ToAh! ST WG HRRITT AVt g wreiaus woor wata stfus s af
AT YEETAT THIIAT A, 50% &1 F5 SRR,
(b) FATEH AT TSR JU=T Fod= TIoiat TR i STEA WIS o A AU Towivel

A .

Wf?ﬂ‘?.ﬂ:{'r

(1) (a) 3 (b) T (2) (a) S (b) T
(3) (a) TH (b) TN 4) (a) 0 B) IF

Consider the following two statements :

(@) Amongst states, the number of women migrants to Maharashtra, is the highest from
Uttar Pradesh. However, this number is less than 56% of the male migrants from
Uttar Pradesh.

(b) Female migrants from Karnataka to Maharashtra rank second and it is higher than
the male migrants from Karnataka.

Answer options :

(1) (a)and (b) True (2) (a) True (b) False

(3) (a) False (b) True (4) (a) and (b) False

91, WO AR AT A 99 FAael.

(a) T ] fohar avia THU UG T WYRO TSATIE 75 Tah A ! Fed e SHaNY FHe
TEUTH.

(b) SR G e €26 A 50 Tk TAH] S W M ' HHRY e’ wRoER.

() SR IS=ur=l g2 € 50 Toh el SR T8O W o ' die e’ Wk

T I

(1) & faum (a) s7ftr (o) et s

(2) wHdx [HUF (a) suftr (b) R AR

(3) ¥da faum (o) ga IR

(4) Gd fauH AR 3.

Read the following sentences and choose the correct option :

(a) A period of drought is defined as a year or season in which total rainfall is less than
75 per cent of the normal.

(b) If rainfall deficit is between 26 and 50 per cent, it is called as “Moderate Drought”.

(c) 1f rainfall deficit is more than 50 per cent, it is called as “ Severe Drought”.

Answer options :

(1) Only sentence (a) and (c) are incorrect.

(2) Only sentence (a) and (b) are incorrect.

(3) Only sentence (c) is incorrect.

(4)  All the sentences are correct.
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92, Teordte waifus qoHN ; T ARG I
(1) E= 11.00 ¥ I8 12.00 (2) TR 12.00 T URI 1.00
(3) g9 1.00 ¥ 2.00 (4) TIH 2.00 T 3.00

Highest temperature of a day is recorded between

(1) 11.00 am to 12.00 noon (2) 12.00 noon to 1.00 pm

(3) 1.00 pm to 2.00 pm (4) 2.00 pm to 3.00 pm

93, WAHTYH! HIVH THET Tad SIS YU HIVATE! 91 TSI ST ?
(1) wE=EE (2) A (3) aFamE feen (4) ETEE
The ability of the air to hold water vapour depends entirely on which of the factor ?

(1) Pressure (2) Temperature (3) Wind direction (4) Sunshine

94. TERILMS) TR dea 8 TgAYd hical ST “ard HIgTa1 YeaTa ol Hiam __°
1 qfg=aid SR e,

Q) e sfr I @) e i

(3) A enfor A (4) [ o S

In Maharashtra, thunderstorm activity is most pronounced before and during the advance
of the south-west Monsoon in

(1) April and July . (2) April and May

(3) May and June (4) June and July

Hoodl HAWE W /SPACE FOR ROUGH WORK
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95, Yl El

(a)
(b)
(c)
(d)

i I

(1)
2)
)
(4)

Match the following :

(a)
(b)
()
(d)

@ (b (9
(i (@) (i)
(v) (i) (i)
@ @ @)
@) @) @)

Column - I
(Gas)
Nitrogen (N,)
Helium {He)
Ozone (O,)
Hydrogen (H,)

Answer options :

(1)
(2)
()
(4)

@ ® ©
® 6 @
) @ G
O @ @
@ @ O

@
@)
0

i

{(d)

(iv)
Y

(ii)
(i)

0
@
@
@

48

wW - 11
( STATERUTTIS Y56 WHTOT W7 Wit J9Tesed )
0.07 ppm
0.5 ppm
780,840.0 ppm

52 ppm

Column - II
{Composition of Dry Atmosphere (ppm))
0.07 ppm
0.5 ppm
780,840.0 ppm
9.2 ppm

oAl FHIATEES AW /SPACE FOR ROUGH WORK
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49 EO8

TG BV TSI AR TRl THE U= Tét ?

(1) ufv=m wifesaH (2) WIAUEH

(3) ferm feeem™ (4) Weg HEn

Which of the following region do not get the Monsoon type of rainfall ?
(1) West Pakistan (2) Philipines

(3) South Vietnam (4) Central Keniya

97.

TS vatarE S wRara A Fidei gy e o vata e

(1) Teurea w&g 3 fadea weR 9= wm 9 fawr

(2) FIIFAA ARAMIS = WA

(3) R ¥ O I TREUEE Ted e

(4) T&t TerTR 3 anfan Gaiwia s v 9 U dvaren fRdde awea
Choose from the following options which is not related to origin of Indian Monsoon.
(1}  The location and extend of Himalaya and plateau of Tibet

(2) Forest cover in Peninsular India

(3) Upper air circulation of Jet-stream wind in atmosphere

(4) Differential heating and cooling of huge land masses of Asia and Indian ocean

98.

TERTSZTAY] TARHIvT Yot a1kes 1 gHies 3fied o TH-3F aa e anfn § 7ell ffan
o earr fadrd: Tearea siata T 9P TR B

(1) Tfa=d

() TR

(3) 4 a0 S faee

(4) < TEETSt | wiyew denre

In Maharashtra, Dust Storms are rare or one-two may o'ccu: if at all, during April and
May or early June in the interior of the state, particularly in

(1) Vidarbha

(2) Marathwada

(3) Dhule and Jalgaon districts

(4) South Marathwada and Western Maharashtra

FHoET HHAS A0 /SPACE FOR ROUGH WORK
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99, WSI® HENISZAT AehTe i1 SUfaeseT W SHIvrr FH FamaH faymt Seifadr 7

(1) FAfese gei=are fasm

(2) I SlRTE i AUt gE favn
(3)  aife wetre St R fersw

(4) SIS Fledl  Fie gt faum

Dotted area in the map of Maharashtra shows which of the following Agro Climatic
Region ? :

(1) Region of certain rain.
(2) Region of heavy rain, brown and red soil.
(3) Region of heavy rain and laterite soil.

(4) Rain shadow region of black and gray soil.
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100. E® 3 fauri faun &
(a) T A AT YA 516 YRE<=T TEH I AT AIHH @ A1at == & o FHHl
FXUTE FAR THT FI0 3T 2L,
(b) T G 7T Tt SR e g

i 39
1) (a) 9 (b) A=A foum w anga (2) (a)d (b) G faum @ snga
(3) THE (a) fOUH TS R (4) T (b) FHuR IR

Consider the following two statements :

(a) The main aim of Kyoto Conference on Global Warming was to discuss and sign the
agreement on minimization of Global Warming.

(b) Trading system to buy and sale Carbon.

Answer options :

(1) Both (a) and (b) are true (2) Both (a) and (b) are false
(3) Only (a) is true (4) Only (b) is true
101, A9HFAR 39 fomw ® Il YFHGL AT 3R,
(1) eE . @) =
(3) ugg it (4) WP yaTe
The vertical distribution of the temperature depends on factor.
(1) Latitude ‘ (2) Alttude
(3) Proximity to the sea (4) Ocean currents

102, TRAATdie [Eie Yeummed 9+t an a®ard :
(a) oTfFardie fEmmEn fFam, SW stiefearmr fFm
(b) TRV, dATs, B, HeeEr 9 feram

(c) =i, SR s

(d) Hgaa G Bfayeh=n @ Yn

Wﬁ-ﬁ' E?ﬁ' : ‘

1) @ ®) () T 2) (b)) (d) TR
3) (@) (o), (d) TR (4) wd TR

Other than India which of the following regions experience monsoon winds ?
(a) Giana coast of Africa, North Australian coast

(p) Burma, Thailand, Laoos, Kambodia and Vietnam

(c) China, South Japan

(d) Part of Gulf of Mexico of United States

Answer options :

(1) (a), (b), (c) are correct (2) (b), (), (d) are correct

(3) (a), (c), (d) are correct (4) All are correct
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103. HIEY FUU F Areot! T e AR WEeUd! Sl gamE faurm siEe 2

(1) TovegsE TS swoArE 939 (2) AT FATHHET WSW
(3) TG TR Feu (4) gl geri=an sRugi= WeN
Slash and burn is the characteristic of agriculture in which of the following climatic
region ?
(1) Equatorial rain forest region (2) Mediterranean climate region
(3) Monsoon climate region (4) Coniferous forest region
104. SIS @l
@Y -1 WY - 11
(SitarerT) (=)
(a) ® () o7y wew
(b) YrEEH (i) WA W
(c) W= (i) faenT
(d)y = (iv) T
gt I
@ () (© (@
1 Gv) @) @ @
(2 @ @O @@ @)
@) @O @) (@) (@
@ (v) @& @@ (i)
Match the following :
Column - I - Column - II
(Biosphere) (State)
(a) Kachchh (i) Andhra Pradesh
(b) Sheshachalam (i) Madhya Pradesh
(c) Panna - (i) Sikkim
(d) Kanchendzonga (iv) Gujarat
Answer options :
(@ (b ) (@
M ) @ @
() @) () G G
G @ (v @@ (@
@ (v G @) g6

FHoeT HITETS! AR /SPACE FOR ROUGH WORK
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105. e @ ;
TR AMfds gei-ar= faaor

(@)

)

(©)

(d)

()

w1

53 EO8

+

W - 10

v i Y You () FrE fEARagEn ey o orEe

(300 - 750 ®.A)
S T Wy
(200 - 300 ®.5.)
ey qEEE Weu
(100 - 200 ¥F.)
HH! AT W2
(50 - 100 ®.41.)
FIHITE T

ardt I

1)
(2
(3)
(4)

@ © © @
O @ @
@ 0 @ @
@ 0 @ v
O @ ©

Match the following :
Annual Rainfall distribution of Maharashtra

(@)
(b)
(©)
(d)
(e)

(i) IS, NI, THAES], TET
(i) HTEAET YaH IW-afevl ugT 9 fagd
(iv) STEWRAR, v, ARl fegmdis F= 9
(v) TSHS], WY § U¥EH HERIETHG FIgl S
(e)
(v)
(v)

(v
(i)

Column - I Column - II
Very high rainfall regipn (i} Narrow stripe of Konkan and Maval
(300 - 750 cm) )
High rainfall region (i) Amboli, Mahabaleshwar, Gaganbavada,
(200 - 300 cm) Matheran
Medium rainfall region (iiiy North - South belt to the east of Maval and
(100 - 200 cm) Vidarbha
Low rainfall region (iv) Ahemadnagar, Nashik and some part of
(50 - 100 cm) Satara district

Drought prone area

Answer options :

(1)
@
3)
@)

@ () (9 (@
@ @ @) )
@ @ (@ @)
@ @ @ (v
@ @ - W

(v} Marathwada, Khandesh and some part of
Western Maharashtra

()
(v)
)
(iv)

(i)

HoAT HEES AT /SPACE FOR ROUGH WORK
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106. Te T (El Nino) a9 Greioia! Hivrl AERFRIs] ek w1 o1 e wew fHuio g ?

(1)

Feelteh (2) dfafss (3) 3femA

(4) FHfeH

In an El Nino year, low air pressure develops over large areas along the coastal region of
which of the following ocean ?

(1) Atlantic (2) Pacific (3) Indian (4) Arctic
107. S &l :
-1 - 11

(TaiaoT watua &) (ad)
(a) TAfETW (FEU) FHA () 1974
(b) & (wguor Wewy 5 fEAv) FrEe @) 1972
(c) i (wEuor wiase = FrefAvr) HrmE (i) 1986
(d) S=aSIT HIE FAG (iv) 1980
(e) T U FH (v} 1981
TgEr

@ ® (© @ (@
O @ ™ @ v
@ G @ @ v 0
@ @ v O @ @
@ () ® @ @ 6
Match the following :

Column - 1 Column - II

(Environment related Act) (Year)
(a) The environment (protection) Act ) 1974
(b) The air (preventation and control of pollution) Act i)y 1972
(c) The water (preventation and control of pollution) Act  (iiiy 1986
{d) The wildlife protection Act (iv) 1980
{e}  Forest conservation Act {v) 1981 -

Answer options :

(1)
(2)
(3)
4)

(@ () () (d (e
i () (@) ) @
(i) () ) (v
w v @ 6@ )
w (v v @ @

oAl THIAMTE 9T /SPACE FOR ROUGH WORK
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108. TWHSIH FIUA T Fafafauir=n TEUHE 3903 &t gwrar a2

(a) IUYE FACI q HOFIY LRI, |

(o) TEu Ul 9 FeEgeiar SNTRIE A9 HT,

(© ud et faert faifa w5,

(d) o= fagid 9 ﬂmmmﬁm%?mwﬁ.

it I

(1)  (a) T (b) (2) (o) o (d) (3) HH (b) 4)  (b) 3T (o)

Which of the following steps for conservation of biodiversity is/are incorrect ?

(a) Protect useful plants and animals.

(b) Develop international trade of wild animals and plants.

(c) Regulate strictly hunting of all animals.

(d) Preserve resting and feeding places of animals.

Answer options :

(1) (a) and (b) (2} () and (d) (3) Only (b) (4)  (b) and (c)

109. T8 (sustainable) YT GISIGTH! FIRITET FUEY Sl ?

(a) Thg ot () Taafes
(© s s frw (Q) TEEtE fhew TR AW
g 3T

(1) (a) 3001 (d) (2 (o 3 (d) (3) (@), M) (4 wHowd
Which of the following is/are includes in sustainable agriculture ?

(a) Mix farming (b) Mixed cropping

(c) Crop rotation (d) Use of chemical insecticides

Answer options :

(1) (a) and (d) @) (c) and (d) (3) (a), (B and ()~ (4) Al the above

el HEES JHET /SPACE FOR ROUGH WORK
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110. @/ 9La[ (TN 3 fon anfaeiest v aEee) & Hernemed gHie Tk, WY -t

__ vEi A

(1) TRt AgT e e S T FRTA Had

(2) A e fRRIEISR S0 A o e T Few.

(3) TR Fave FeE fREAREgeR S A FAEAr St Fw.

(4) R e Fe AR S @A wew.

In Maharashtra, squalls are rare but occasionally occur during

(1) the premonsoon over the coastal region and during the monsoon period over the
interior.

(2) the monsoon over the coastal region and during the premonsoon period over the
interior.

- (3) the postmonsoon period over the coastal region and during the monsoon period
over the interior.

(4) the postmonsoon period over the coastal and interior region.

111, GEe AAEROTEAT TR SR TSv & :

(a) TR (b) SR

() el (d) ==

ot I

1) (d), () (), (@) (2 (@) (@) (b) (d)

3) (@) (b)) (& 4) () (b) (), (d)

Arrange the following atmospheric layer according to increasing height :
(a} Troposphere {b) lonosphere

(c) Stratosphere (d) Exosphere

Answer options :

(1) (@) ) b) @ @ @, @ b))
@) @, @) (@) (d 4 (. (), (@) (d)

HoAT HIRMEE AT /SPACE FOR ROUGH WORK
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it I

(@ (b)) (9 (d)
1 @ @ G ()
(2 Gv) @ (@) ()
(@) @) @) O @
@ @ @ @ 0
Match the following :

Column - I

(@) Equatorial low pressure belt
(b) Mid latitudinal high pressure
(c) Sub-polar low pressure belt

(d) Polar high pressure belt

Answer options :

(1
2
(
(

o St

3
4)

()
(i)

(tv)
(1)
(1)

(b)
(i)
@

(iv)
(1)

(<)
(iv)
(i)
8
(iv)

— —
PR
o

(™Y .
VE’

57

(i)

EO8

WY - 11
Il YIS 91 TRUPIR o8 § geEr=a
IR H THod! .
U AIAM 0°C Tl FHT 3744,
1 YT TR @il e e dee
JEqm.
g gl 25° 3fU1 35° HEgAI AR Gt
A,

Column - II

Air in this region gets pushed upward due
to the friction with the surface and Earth’s
rotation.

The temperature is below 0°C throughout
belt
the year.

In this area, the rays of the sun fall mostly
perpendicular.

Cool air descends between 25° and 35°
latitude.
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113.

58 A

el fgoet faum |9 2011 = STUHTER HERTERe ol SIREesl afd sRd, areg
R ICRECE

(a) V@Il SHESA 2001 HEY 14,1 Tah TAH! a1 o =TT 1 2011 LA 11.9 <56 Taah! HL.
(b)  SrFESA HE YT AT TG WA JEHS FOS! I
(c) —TIE SIS WO I € UE W e .

(1) e fauM (a) ST (¢) TET 371
(2) FEes fauM (b) I (a) TR TRA.
(3) e faum (c) 7MY (b) TR 37
(4) & fagr SR sTRA.

The following statements are related with propartion of child population in Maharashtra
(Census, 2011), read and choose correct option.

(a) The percentage of child population was 14.1 in 2001 came down to 11.9 in 2011.
(b) It is declining both in rural and urban.

(¢} Decline in rural is more as compared to urban.

Answer options :

(1) Only statement (a) and (c) are correct.

(2) Only statement (b) and (a) are correct.

(3} Only statement (c) and (b) are correct. .

(4) All statements are correct.

114.

YR A fasm 18ame 2011 TOR, R 9 fawm e 0,467 S 319F TeRTemET o

FAHI 3R,
(1) 0.389 (2) 0.448 (3} 0.572 (4) 0.672
As per India Human Development Report 2011, India’s Human Development Index is
0.467, whereas it is for the state of Maharashtra.
(1) 0.389 (2) 0.448 (3) 0.572 4) 0.672
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115. FERTN fRadl Woua 97 4 AfRER ST sedl .
(1) 607 75 k= TEH (2) 651 75 TFhA A
(3) 703 80 TRFEA TN | (4) 80T Y W

Over the coast (Maharashtra), humidity, during June to October is

(1) between 60 and 75 percent (2) Dbetween 65 and 75 percent
(3) between 70 and 80 percent (4) more than 80 percent
116. TR RIS Y Arevm Taite Sael srraoen T AR TSR FlE RS
FUIR Y[E SHTism el 8.
(1) ieed (2) swEd (3) mifsfEx (4) T AN

is fitted to the motor vehicle’s exhaust tail pipe and it converts Carbon monoxide
into pure oxygen.

(1) Filters {2) ESP (3). Thermoreactor (4) Pollution rose
117. YRamtio sgas 697 (FH18) W fd=am e .

(1) - e S T (@ yfeTe S ol el

(3) &Ry wHH (4 =(ewd

In most command areas of India irrigation has contributed to
(1) Water logging (2) High water table

(3) Soil salinity (4)  All the ab—ove

eIl TS S /SPACE FOR ROUGH WORK
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118.

60 A
S v vate Seta vee fhar g € st Fefaard.
(a) SIS 9O GO SO e
(b) SlerTes (S Tl &9 e a1/3))

© wm

Tatdt 3w - |

O @AMHEE @ GG
®) (@ A (o) v @ @ b

The presence of organic matter or humas in soil in optimum amount improves
(a) Water holding capacity of the soil
(b) Rate of infiltration

(c) Porocity

Answer options :

(1)  (a) and (b) only (2)  (b) and (c) only

(3) (a) and (c) only (4) (), (b) and ()
119. W Hehrear Taltad At fahdt e @i ?

(1) 12318C (2) 203 37.5°C (3) 261 40°C (4) 151 415°C

Temperature range required for optimum growth of rice .

1) 12 to 18°C 2) 20to 37.5°C (3) 26 to 40°C (4) 15 to 41.5°C
120, AR FAHe HAfae REuil fee 991 @ d@ ' <t A AR,

(1) wfas-fE : 2) R

(3) Ao weA (4) a0 FIEE T

Poor organizational structure for supply of inputs in dry lands is __ constraint.

(1) Socio-economic {2) Technological

(3) Resource (4) None of above
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121, "= 7o ) HvErEre! SEE el ARimes ol S

(1) &R (0 fo=

(3) T (4) HoR T T

Molasses are added in soil to reduce the of soil.

(1) Salinity. (2) Alkalinity

(3) Acidity (4) None of the above
122. VA Y9 GavarRiin Siufaen favas v sTEEem s ?-

(a) Tt Free @ SfhEER wema

(b) g W i TR A

(c) IS TUSHIET S0 STEAde AT

(d) SOt SvRd T

Tt 349 :

(1) () A0 (b) Pt (2)  (b) 3 (c) et

(3) (a) W (c) FH @) (d) %

What are the Agronomical measures of water erosion control ?

{a) Choice of crop and land preperation

(b) Strip cropping and mulching

(<) Confour bunding and vegetative barriers

(d) None of the above

Answer options :

(1) (2)and (b) only (2) (b and (c) only

(3) (a) and (c) only (4)  (d) only
123. STEWT SICH W HS et e 9 Bd ?

(1) 12 s A (2) 100 3w 2q

(3) 329 IFsd T (4) 120 ¥ =

How much is the estimated annual soil loss through erosion in our country ?

(1) 12 billion tonnes (2)
(3) 329 billion tonnes (4)

100 billion tonnes
120 billion tonnes
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124. durg fSaarsr JEvieia weid e auEE T4,
(1) 20°C (2) 28°C (3) 32°C (4) 25°C

Optimum temperature for germination of Tobacco is

(1) 20°C (2) 28°C (3) 32°C (4) 25°C
125, MR TS TERIGA __ A, IEE vEL,

(1) 127.2 2y 1194 (3) 137.8 (4y 1257

The average rainfall in India is about cm,

1 127.2 @2) 119.4 (@) 1378 4) 1257

126. TR WY feqdiz sk sffusmeer ai=myw ardmsdie Bwd aie Foler =M

fudt &,

(1) 057025 (2) 0.05d 0.002

(3) 2.00d 1.00 (4) 1.00 9 0.50

As per the United States Department of Agriculture the diameter of medium sand soil
separate is m.m.

(1) 0.5to 025 (2) 0.05 to 0.002

3)  2.00 to 1.00 (4)  1.00 to 0.50

4

127. Taamie dor yov, Famdie fedfie @' =9 g onftn wesien T1 3igma Fom 9o 5=

(1) ' @ 97 (3) o @ ww

The oil content of seed, Vitamin ‘C’ content of fruits and colour of fruits are enhanced by
nutrient.

(1) Iron (2) Calcium (3) Potassium (4) Phosphorous
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128. FY gTR IV Hewaqel FRO 37Rd ?

(a) 34143 EERL

(b) urEErE e G (eHea)

(c) SRS o FETHMHIaTaS Jhics

ot I :

(1) (a) onf1 (b) w0 (2) (b) 2f@ () v

(3) () ST () 4) (), (b) S (c)

What are the important causes of agricultural drought ?

(a) Inadequate precipitation

(b) Long dry spells in the monsoon.

(c) Atmospheric and meteorological drought

Answer options :

(1)  (a) and (b) only (2) (b} and (c) only

(3) (a) and (c) only (4)  (2), {b) and ()
129. YT YaTerEed f&ada amil § Siid wewmmn s s 4 ifera.

ie Ed= % X 100

(1) 97 Sl Fresa _ (2) OOt Seq e
(3) 9moft S1EA FrEiAHEN (4) IOl WIEET A

indicates the extent to which water is uniformly distributed in soil along the
run.

e Bd=2"% s 100
D

(1)  Water application efficiency (2) Water distribution efficiency

(3} Water conveyance efficiency (4) Water storage efficiency
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130. 3 R sawintie sTRYvE Y TV,
(1) #AYFT (Adhesion) (2) FEF (Cohesion)
(3) 9RO (Repulsion) (4) =Yt THEl e
Attraction of two dissimilar phases is termed as
(1) Adhesion (2) Cohesion
(3) Repulsion (4) None of the above
131. T fo g (VAT et R S QR 9% I 2
(a) TR SAHIT FEA
(b) R AT G FET
() TR g ol S
it 3
(1) (a) 3 (b) FF () (b) W (c) T
(3)  (a) 3 (c) FH @ (a) (b) 3 ()
How the efficiency of surface method of irrigation can be improved ?
(a) By lining the canal
(b) By proper levelling of the field
(c) By wild flooding
Answer options : 7
(1) (@and (®)only - (2} (b) and (¢} only
(3) (a) and (c) only (4)  (a) (b) and (¢)
132. W () TR Evar ShEEAme Ry quaeiet SEh e wH S TS :

() Fifeam (b) VI () STyt (@) feo
it 39

1) @ (2) (@3 () @) (© 4)  (d)
In soil formation process, the material transported and deposited by water is
(@) Colluvium  (b) Lacustrine (c) Alluvium (d) Till
Answer options : _ :

1) (a) (2)  (a) and (b) G © 4) (d)
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133, 1 ARRITE TEE 19T 98, STORTmER et S Wiofass S anfr 3 fuewm ster wifest Fe

[ e A R IR E T v
Q) vEE §=94A . (2) it w=EE
(3) GHEa A (4) fE=m

The process in which rainwater is collected and stored in ponds, reservoirs and provided
for supplemental irrigation to crop as and when required is called as

(1') Rain harvesting *~ (2) Water harvesting

(3} ~ Protective irrigation (4) Irrigation

134, TABIF Froe T s sreuTy GIE G STR4 ?

1) s, ¥W, 3 () &, vE, 9 |

(3) T, WE, AT (4) FOEIH FRE TE

Whicﬁ of the following are highly acid soil tolerant crops ?

(1) Castor, Tice, éat (2) Wheat, rice, brinjal

(3) Maize, rice, tomato (4) None of these
155.mewm, T T ST IIEY SR,

| (1) Fifear aT _ (2 s

() T R ' (4) Frg e

On the basis of total length of daily light period, ___ plant is the example of day

neutral plant.

(1j Nicotiana tabﬁcum ' (2)- Brassica rapa

(3) Sorghum vulgare | (4) Cannabis sativa

weAl mmﬁf_w /SPACE FOR ROUGH WORK

P.T.O.




EOS 66 A
136. STEEIEET IOYTGT W0 WeT HOOATH MWaT_ T A

(a) IOl T HIO

(b) —TUETE HEME FHH FO

() VoEw

(d) TSN e el

i 3w

(1) ()T (o) FH @ ®)F (R
G @O @ @ %=

Drought resistance in plants is achieved by

(a) Water uptake

(b) Reduction of water loss

(c) Storage of water

(d} None of the above

Answer options :

(1)  (a) and (b) only (2) (b) and (c) only

() @ @and(@ (@) (d) only

137. WWWWW@WWW@%WW&W

(1) =TS g (2) ‘aaﬁqq - (3) YUoHEl gu (4) TyiAre yu

Uniform removal of soil in thin layers from slopy lands due to overflow of water is

(1) Rill erosion (2) Gullyerosion (3) Sheeterosion (4) Splash erosion
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138. e HHIFEES (CO) B 79 TE00 HOON Y@ W& AR, dl Wre! AR &6l gHIES
AR ?

(a) A A TAFRE FeH AT T,
(b) awﬁm(aﬁmﬂm)m@#ﬁﬁwﬁm.
(c) T ASTHEE AR Sy Jurfad wia.

(d) TS TPt qH T

Whﬂiaﬂw{: '

(1) (a) B @)  (b) 30U (d) P

3) (a), (b) 3 () B (@) Sdeis gd vatg g o

Carbon monoxide {CO) is a major air pollutant. How it is harmful to human health ?:
{a) It may cause heart attack.

(b) It reduces oxygen carrying capacity of the blood.

{c) It affects the normal functioning of the nervous system.

(d) 1t damages liver.

Answer options :

() () only (2) (®) and (d) only

(3) (a), (b) and (c) only (4) All of the above

139.mewium(wwm)é : .

(1) ToFvmRNET S s (2) TaswUmTAIET HH R
(3) foFume safFe s (4) =l L)
The total pore space in sandy soil is

(1) More than clay (2) Less than clay

(3) Equal to clay (4) None of the above
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140, F4t Terg/yiaw qon fieren T UG SRS TS .
(1) TG () fous o
(3) -9 vEd (4) HiFR TEd
Poor quality water can be used.-in irrigation system.
(1) Sprinkler (2) Drip
(3) Ridges and furrow (4)  Flood
141. T¥H® H R AfEaH I6 99 HRFEET (NCMRWE) A= T1aT et 4t feeoa
EIC
(1) 1985 (2) 1988 @) 1992 (4) 1994

A National Centre for Medium Range Weather Forecasting (NCMRWF) was established

in the year in New Delhi.

1) 1985 (2) 1988 (3) 1992 (4) 1994
142. =ZHeA HE T,

(1) efeyeiea () = 3) TR (4) e

Vertisols are also called as i}

(1) Alluvium (2) Chestnut (3) Regur '(4) Latosols
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143, FE TIEdIHEA QR ST Thal 2 ATHYE HIE THIOd Joi=1 WEId 9o @9 gl J
PERE TEUTET.

(1) AaErdaT (9o (2) e
(3) SEHEY (WRR) (4 Tw

In some plants loss of some quantity of liquid water occurs in the form of drops from the
margins or tip of leaves. This process is called as

(1) Absorption _ (2) | Adsorption
(3) Osmosis . . (4) Guttation
144, SHT FAREE [ae e v GArE S e
1 = (2) TR
(3) oW (4) FhetH T

Application of magnesium of plants leads to increase the efficiency of fertilizers containing

(1) Nitrogen (2) Phosphorous
(3) Potassium ' - (4) All of the above

145, WeAEROTQY Iost ARETtS! zﬁq&ﬁmﬁquswmsﬂﬂ%w
1) 75 2) 79 (3) 85 4) 73
On an average about percent of the incident radiation is absorbed by the
Crop_canopy. ’
(1) 75 @ 79 (3) 85 4) 73
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146. =7 YOI SOFRETHREE e f5E) e w19 H8
(1) ScgsTET A (2) Tl aRET
(3) <= dE (4) e wd
Atmosphere scatters electromagnetic radiation by affecting
(1) speed of radiation | (2) its frequency
(3) its intensity (4) all of the above
147. siifes wfed TR TEE W THR TrEfa S
m f6g ()
(3) wE{IFER (4) SBIH FR AR
In Geographical Information System (GIS) land parcels are represented by
(1) Points (2) Line
{3) Polygons (4) None of the above
148. TN q0T FElE TH A0 e T 3TE.

1) 01907wm (2) 04307pm (3) 14d17um (4 497 pum
The visible wavelengths cover a range from approximately

(1) 01tod7pm (2) 04to07pm (3) 14tol7pm (4} 4dto7 pum

149. INE FEA FAE AR,
(1) IRS-1D ~ (2) IRS-P4 {3) RISAT-1 4y IRS-1C
satellite is in service.

(1) IRS-1D (2) IRS-P4 {3) RISAT-1 (4) IRS-1C
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(1)
()
3)
(4)

71 EOS8

vt il vz femamta, sk it g1 4 BT .

e (o) 3 fist vaeR 3@t W (T snfo far)
VO A (O1%), 3eRad o ( fewan) snftn fewan (o)
SRR Flte (), fotan (), oS ( fea)
TF T E

false colour band combinations are useful to differentiate between snow, ice

and clouds.

(1)
(2)
(3)
(4)

Blue (red), two different short wave infrared bands (green and blue)

Short wave infrared (red), near infrared (green) and green (blue)
Near infrared (red), green (blue), red (green) ’
None of the above

-00 o-
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T — (79 1 767 @....)

8) wyfasned fafea Soc fafire vl =1 1 (W6 9%) F18.  wayfaessfaia saeiwat a
TR FIEER H= FHH hoad § U FHOI A FS AR, W THS TRS 9 IR SHSIHEH
WA SR o ' Tl g R Tiaey FvaEe sTufTan-82 " ke SgalTar FREs
FoAE Ao 9 AN AH FAG T A SRS A0/ 6 T8 T g9K EH=A1 S8/ fem
RERIEE

(9) HR IFUFRAE TErTA fafed FSt Fog HIHH NGNS E TRAYEH 0 Ha T
T3 SAE WA AR, mﬁwmmmmwﬁﬁmﬂw—

AHAgRTEHS T GO U S HEvash 3
AT B9
WA HHIE, 201 WS G0 T FOGRIG! HI0 TR TIA F 2
(1) T YS! @ Ivates foemar
(@) TN UHEEA U9 @  ThTEEE e

& U A I (3) TN IeEE 097 S TR, W@ W ¥EN SW C(3)" i araw
WIHEHRTON 77 . 201 HE IT-%A Q)" ¢ Tge v Srithd w5 Irafao e
R,

w20t O Q @ @

M TGd TEgd TgaHdie T TEIrEl Ul IAGhES 3 Rl Wil gaaee
ITfTFEIS & A TAFRNFREEE aiyg g4z Qo oifsy %9 Sraam.  @resiar
me@%ﬁwm,ﬁmmm@ﬁwmﬂ&
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T AT ;ST Wl () URAETT- 098
o : | AreEE - 0 TRterE famier ;. W AEaR, R0%8

TERTS G ST T Wall (FEd) URTeTT-R0RE,” 7 Tl RIErT Ye-urich el STRaeTehl SHEERTeT Hifgd st
RhTeeler e FRuaTd Sffell 3T, WX STRCICThdiel T-STRIgae SHIARAT FHog e Srgedrd
SATTHTO N TIRIOT / T 3 WIS AT, T, JeTshHIh JTeAT SeciTde IvYRashl-3 Fe! o Tl aad A
ST TR SRR, 10, 11, V) W0 HERER 30 ol FegT TR % ol ¥d Mo Ushra arehferd
RieT e 3 T Gied, HERTS Aiwga ST, WY, @ T ¢ a1 HeTell, ST HelHTR el i $HRd, Hefd s |,
FI, TaTg oo 02, AT TR YT Uadl, JIEHia f&. Qo Hfaeler, 0% T STRNRS W Seted o=
S e SIEet. TG STTCTe! e faraRIe Sett SUTR AEId, e S g S,

IRATteret - KEY
T I oy I
HHI® | §IA | GIB | €9 C | GG D ®H% [GaA | @9 B | €aC | @9 D
1 1 1 3 3 26 4 3 1 3
2 1 2 3 2 27 1 1 1 3
3 3 1 3 4 28 4 2 4 2
4 3 2 1 1 29 4 3 3 3
5 2 1 1 3 30 1 2 2 1
6 2 1 4 2 31 3 3 3 2
7 2 4 1 2 32 3 4 4 2
8 3 3 2 3 33 4 3 2 2
9 4 4 3 1 34 2 3 3 3
10 2 3 2 2 35 3 1 3 3
1 2 3 4 4 36 4 2 3 3
12 2 2 2 1 37 1 4 1 1
13 1 3 3 1 38 3 2 2 1
14 3 3 2 2 39 3 3 1 3
15 2 2 2 4 40 1 4 4 2
16 3 1 1 2 41 2 3 3 1
17 1 2 2 4 42 3 2 4 3
18 4 2 2 4 43 4 3 3 2
19 2 3 4 3 44 2 3 1 4
20 3 1 2 3 45 2 2 2 3
21 3 1 1 1 46 3 1 3 4
22 1 4 1 1 47 3 2 1 1
23 2 4 3 2 48 4 2 3 3
24 1 4 4 1 49 2 4 4 4
25 3 2 3 2 50 3 3 4 4

T AT UaT — | 2. 3 off@eteR, 0%



aoT W e W
WHI% | WIA | 9B |€9C | 99D W | HIA | 9B | @A C | @I D
51 4 3 2 4 76 1 4 3 3
52 4 3 3 4 77 3 4 1 2
53 4 1 2 3 78 2 1 2 2
54 2 1 4 4 79 4 4 4 4
55 3 4 4 3 80 2 4 3 3
56 1 4 3 2 81 4 3 1 1
57 3 4 4 4 82 2 1 1 1
58 1 4 2 3 83 3 1 3 4
59 4 1 1 3 84 1 2 2 1
60 1 3 3 1 85 1 1 4 4
61 3 2 2 1 86 4 1 2 1
62 2 1 2 4 87 4 2 1 2
63 1 4 2 3 88 4 3 1 3
64 3 1 1 2 89 2 3 4 2
65 1 3 3 4 90 1 2 4 4
66 4 1 2 2 91 4 2 1 2
67 2 2 2 1 92 4 4 4 2
68 2 2 1 1 93 2 4 3 3
69 1 3 1 2 94 3 2 4 2
70 1 4 4 3 95 4 1 3 4
71 1 2 4 1 96 4 3 4 3
72 4 4 2 4 97 2 4 3 4
73 3 1 4 2 98 1 1 2 3
74 2 2 3 1 99 2 4 1 3
75 2 2 1 2 100 1 4 3 4

T AT IR — |

f&. 3 sffaRerR, Rot%




hHh | G A 994 B (99 C | |99 D
101 2 4 4 4
102 4 3 3 1
103 1 2 2 4
104 4 4 3 1
105 3 3 1 4
106 2 2 2 3
107 3 2 2 2
108 3 1 2 2
109 3 3 4 3
110 2 3 4 2
111 2 2 3 3
112 3 3 4 4
113 4 3 2 1
114 3 2 2 2
115 4 4 4 4
116 3 1 1 4
117 4 2 4 2
118 4 2 1 2
119 2 4 1 1
120 1 3 1 1
121 2 1 3 4
122 1 2 1 4
123 1 1 3 1
124 2 2 1 3
125 2 3 2 2

T AT IR — |

TS I

WHh | GIA | GIB | 9 C | €AD
126 1 1 3 1
127 3 1 1 3
128 1 1 2 1
129 2 2 1 2
130 1 3 2 1
131 1 1 2 1
132 3 2 2 1
133 2 2 1 2
134 1 3 3 3
135 1 2 2 2
136 3 2 2 2
137 3 4 2 3
138 3 4 3 1
139 2 3 3 2
140 2 1 4 3
141 2 3 4 2
142 3 1 1 2
143 4 2 2 3
144 2 3 2 3
145 1 1 3 1
146 4 4 4 3
147 3 2 2 4
148 2 3 3 1
149 3 1 3 2
150 1 3 1 3

f&. 3 sffaRieR, Rot%




